flux

AP / 3.138

AP/ 3.149

100 150

50

-50

Fe2 + Continuum Fit

o, 1658 km/s
TR W

Opey 394 +/— 168 km/s X / 4580 = 3.138
—F2 min £ :

2500
Rest A (&)

Fe2 Scale Factor x2 Diagnosis

0.01896(112) X2 / 4580 = 3.138
T - - T - T -

(@]

T T T T
RMS 1.59 )
MAD 1.18 _
| L | L | | | L | L | L | L | L
0.012 0.014 0.016 0.018 0.02 0.022 0.024 0.026 0.028
Fe2 scale factor
Fe2 Velocity Dispersion x2 Diagnosis
o, 100 2498 prior 225 km/s —820(170) szin / 4580 = 3.138
T T T I T T T T I T T T T I T T T T I T T T T I T T T T I T T
[ rrrLO76 RMS 12.6 1
[ MAD 8.82 ]
L M B
3000

Fe2 Dispersion (km/s)



